

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

WOASIS	Jump to: FORMS 🟦 💿 🤝 Home 🌮 Personalize 🚳 Accessibility 🛜 App Help 🌾 About 😈
Welcome, Lu Anne Cottrill	rocurement Budgeting Accounts Receivable Accounts Payable
Solicitation Response(SR) Dept: 0803 ID: ESR1210190000003519 Ver.: 1 Function: New	w Phase: Final Modified by batch, 12/12/2019
the test of the second s	
Header 🕅 3	
	E List View
General Information Contact Default Values Discount Document Information	
Procurem ent Folder: 655231	SO Doc Code: CRFQ
Procurem ent Type: Central Master Agreement	SO Dept: 0803
Vendor ID: 000000180992	SO Doc ID: DOT200000079
Legal Name: DIMENSIONAL PRODUCTS INC	Published Date: 11/20/19
Alias/DBA:	Close Date: 12/12/19
Total Bid: \$49,603,15	Close Time: 13:30
	Status: Closed
Response Date: 12/12/2019	
Response Time: 11:09	Solicitation Description: TYPE I SOIL ANCHORED FLEXIBLE DELINEATOR POSTS
	Total of Header Attachments: 3
	Total of All Attachments: 3



Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

## State of West Virginia Solicitation Response

	Proc Folder : 655231 Solicitation Description : TYPE I SOIL ANCHORED FLEXIBLE DELINEATOR POSTS Proc Type : Central Master Agreement					
Date issued	Solicitation Closes	Solicitation Response	Version			
	2019-12-12 13:30:00	SR 0803 ESR1210190000003519	1			

VENDOR	
000000180992	
DIMENSIONAL PRODUCTS INC	
Solicitation Number: CRFQ 0803	DOT200000079

 Total Bid :
 \$49,603.15
 Response Date:
 2019-12-12
 Response Time:

**Comments:** 

FOR INFORMATION CONTACT THE BUYER			
Crystal G Hustead			
(304) 558-2402 crystal.g.hustead@wv.gov			
Signature on File	FEIN #	DATE	

All offers subject to all terms and conditions contained in this solicitation

11:09:35

Line	Comm Ln D	)esc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1		E WHITE 1-WAY VE WHITE	700.00000	EA	\$31.200000	\$21,840.00
Comm Code	Mar	nufacturer	Specification		Model #	
46161508						
Extended De	-					WHITE, 1-WAY REFLECTIVE WHITE, TO NCHOR, AND POST ATTACHMENT

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	COMPLETE WHITE 2-WAY REFLECTIVE WHITE/RED	100.00000	EA	\$33.090000	\$3,309.00
Comm Code	Manufacturer	Specification		Model #	
46161508					
Extended Des					WHITE, 2-WAY REFLECTIVE WHITE/RED, ANCHOR, AND POST ATTACHMENT

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	COMPLETE YELLOW 1-WAY REFLECTIVE FL YELLOW	300.00000	EA	\$31.200000	\$9,360.00

Comm Code	Manufacturer	Specification	Model #	
46161508				
Extended Descriptio			DELINEATOR POST, YELLOW, 1- ING (APPLIED), SOIL ANCHOR, A	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	COMPLETE YELLOW 2-WAY REFLECTIVE FL YELLOW/FL	50.00000	EA	\$33.090000	\$1,654.50
Comm Code	Manufacturer	Specification		Model #	
46161508					
Extended De		DE POST, RETRO			YELLOW, 2-WAY REFLECTIVE FL YELLOW / PPLIED), SOIL ANCHOR, AND POST

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	COMPLETE YELLOW 2-WAY REFLECTIVE FL YELLOW/RED	50.00000	EA	\$33.090000	\$1,654.50
Comm Code	Manufacturer	Specification		Model #	
46161508					
Extended Des					YELLOW, 2-WAY REFLECTIVE FL YELLOW SOIL ANCHOR, AND POST ATTACHMENT

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	COMPLETE BLUE NON-REFLECTIVE	50.00000	EA	\$36.210000	\$1,810.50
Comm Code	Manufacturer	Specification		Model #	
46161508					
Extended Des		SOIL ANCHORED FLI OR, AND POST ATTAC			BLUE NON REFLECTIVE, TO INCLUDE

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	REPLACEMNT WHITE 1-WAY REFLECTIVE WHITE	175.00000	EA	\$23.940000	\$4,189.50

Comm Code	Manufacturer	Specification	Model #	
46161508				
Extended Descrip			BLE DELINEATOR POST, WHITE, 1 (APPLIED), AND POST ATTACHM	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	REPLACEMENT WHITE 2-WAY REFLECTIVE WHITE/RED	25.00000	EA	\$25.370000	\$634.25
Comm Code	Manufacturer	Specification		Model #	
46161508					
Extended Des					DST, WHITE, 2-WAY REFLECTIVE WHITE / , AND POST ATTACHMENT HARDWARE

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	REPLACEMENT YELLOW 1-WAY REFLECTIVE YELLOW	75.00000	EA	\$23.940000	\$1,795.50
Comm Code	Manufacturer	Specification		Model #	
46161508					
Extended Des	scription : REPLACEMENT TYPE I S YELLOW, TO INCLUDE P	OIL ANCHORED OST, RETRORE	D FLEXIBLE FLECTIVE S	DELINEATOR POS SHEETING (APPLIE	ST, YELLOW, 1-WAY REFLECTIVE FL ED), AND POST ATTACHMENT HARDWARE

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	REPLACEMENT YELLOW 2-WAY REFLECTIVE FL YELLOW / FL	10.00000	EA	\$25.370000	\$253.70
Comm Code	Manufacturer	Specification		Model #	
46161508					
Extended Des	scription : REPLACEMENT TYPE I S	SOIL ANCHORE	D FLEXIBLE	DELINEATOR PO	ST, YELLOW, 2-WAY REFLECTIVE FL
	YELLOW / FL YELLOW, 1 HARDWARE	O INCLUDE PO	ST, RETROF	REFLECTIVE SHE	ETING (APPLIED), AND POST ATTACHMENT

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	REPLACEMENT YELLOW 2-WAY REFLECTIVE FL YELLOW / RED	10.00000	EA	\$25.370000	\$253.70

Comm Code	Manufacturer	Specification	Model #	
46161508				
Extended Description			BLE DELINEATOR POST, YELLC LECTIVE SHEETING (APPLIED),	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	REPLACEMENT BLUE NON-REFLECTIVE	50.00000	EA	\$28.490000	\$1,424.50
Comm Code	Manufacturer	Specification		Model #	
46161508					
Extended Des	SCRIPTION : REPLACEMENT TYPE I POST AND POST ATTA			DELINEATOR PC	OST, BLUE NON-REFLECTIVE, TO INCLUDE

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	REPLACEMENT U-CHANNEL ANCHOR	150.00000	EA	\$9.490000	\$1,423.50
Comm Code	Manufacturer	Specification		Model #	
46161508					
Extended Des	scription : REPLACEMENT U-CHA	NNEL ANCHOR			

**Comments:** Anchor exceeds requirement. It is a 2"x 12 Gauge cut to length galvanized steel corrugated square tubing



902 Feehanville Drive Mount Prospect, IL 60056 Phone: 847-627-3129

December 11, 2019

Shur-Tite Fabshop c/o Petroflex N.A., Inc 1920 North Weaver Gainesville, TX 76240 940-668-8822

Avery Dennison Reflective Division certifies Shur-Tite Fabshop c/o Petroflex N.A., Inc. complies with appropriate procedures to laminate Avery Dennison WR-7100-M to their LDPE (low density polyethylene), HDPE (high density polyethylene), PP (poly- propylene) and blends using the above.

Avery Dennison WR-7100-M are intended for reflectorizing rigid or reboundable traffic control devices.

We reviewed the guidelines for substrate evaluation, general surface testing, and surface preparation methods all of which can be found in our Instructional Bulletin # 8.01 "Substrate Requirements" and Instructional Bulletin # 8.03 "Application of WR6100, WR7100, and WR7100M Retroreflective Films". Shur-Tite Fabshop c/o Petroflex N.A., Inc is following our guidelines found in Instructional Bulletin 8.01 and 8.03 referenced above.

Should you have any questions or concerns about the information provided in this report, please don't hesitate to contact me at <u>sandeep.kottarath@averydennison.com</u> or at (847) 627-3129.

Sincerely,

Sandeep Kottarath Senior Manager, Global Quality & Technical Services



PO Box 975 Reisterstown, MD 21136 P: 410-861-8654 F: 410-861-8655 cwolfson@dpihiqhwaysystems.com

December 11, 2019

State of West Virginia Purchasing Division 2019 Washington Street East PO Box 50130 Charleston, WV 25305-0130

Re: Proc Folder: 655231

To Whom it May Concern,

This is to confirm that Dimensional Products, Inc. is a non-resident, small, woman owned business which is certified as a DBE in the State of West Virginia effective 1/23/2018.

Yours truly,

Cathy Wolfson, President

## PRODUCT COMPLIANCE CHECKLIST FORM

This form shall be completed in its' entirety by the vendor, and submitted as part of the vendor's

bid package.

Type I Soil Anchored Flexible Delineator Post	
1) Delineator manufacturer: Shur-Tite Products	
2) Trade name(s) and model number(s) of delineators to be supplied:	
Shur-Flex DC54WRZ	
3) Manufacturer and Series number of sheeting to be utilized :	
Avery Wr-7100M	
4) Manufacturer certified by 3M or Avery Dennison to apply specified sheeting to the delineator(s) specified?	Yes No x
5) Delineator(s) bid meet NCHRP-350 requirements for Category I, Test Levels I, II, and III?	Yes No x
6) White and Yellow delineators to be supplied are manufactured to a minimum of fifty-four (54) inches in length and are flat or semi-flat?	Yes No x
7) At the reflective portion of the post, delineators to be supplied have a consistent cross-section?	Yes No x
8) White and Yellow delineators to be supplied have ability to accommodate, front and back, as specified, a three (3) inch wide by nine (9) inch tall piece of sheeting?	Yes No x
9) White and Yellow delineators to be be supplied with sheeting pre-installed by the manufacturer?	Yes No x
10) Bottom edge of sheeting on White and Yellow delineators to be installed no less than forty-three (43) inches from the bottom of the post?	Yes No x
11) Delineators to be be supplied utilize an eighteen (18) inch minimum length piece of u-channel weighing no less than 1.12 pounds per foot meeting the u-channel requirements of the WVDOH Standard Specifications, and are galvanized in accordance to ASTM Specification A123?	Yes No x
System supplied with 2"x12Gauge of proper length perforated galvanized steel cha 12) Any attachment hardware required and supplied is of the size and length recommended or supplied by the manufacturer and is manufactured of stainless, zinc plated, or galvanized steel?	annel Yes No x
PRINT NAME:Steven Noel SIGN NAME: Stur Mod	
SIGN NAME:/ Per	

NAME OF VENDOR: Dimensional Products, Inc

DATE:\_\_\_\_11-Dec-19